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1. Project-Portfolio/ Project Report
The Project-Portfolio may include the following:
Cover page, with title of project, school details/details of students.
e Statement of purpose/objectives/goals
o Certificate of completion
e Students Action Plan for the completion of assigned tasks.
e Materials such as scripts for the theatre/role play, questionnaires for interview, written assignments, essays, survey-
reports and other material evidence of learning progress and academic accomplishment.
e The 800-1000 words essay/Script/Report.
e Student/group reflections.
o|f possible, Photographs that capture the positive learning experiences of the student(s).
eList of resources/bibliography

EXAMPLES:

A FICTITIOUS INTERVIEW WITH A FAMOUS DOCTOR / A PSYCHIATRIST/ THE PRINCIPAL
A SURVEY: COLLECT DATA ABOUT PROBLEMS FACED BY CHILDREN IN POOR SECTIONS
NOTE : YOU CAN CHOOSE ANY OTHER TOPIC FROM YOUR NCERT BOOKS FOR INTERVIEW OR SURVEY
2. MAKE 2 INVITATION CARDS AND THEN PASTE IT IN YOUR PROJECT FILE.
** DO COMPLETE AND REVISE ALL THE WORK DONE IN THE CLASS.

ACCOUNTANCY
Q1. The partnership deed provides that Alok, the partner, will get ¥ 10,000 per month as salary. But, the
remaining partners object to it. How will this matter be resolved?
Q2. A and B are partners sharing profits in the ratio of 3 : 2. A surrenders 1/6" of his share and B
surrenders 1/4™ of his share in favour of C, a new partner. What is the new ratio and the sacrificing ratio?

Q3. A, B and C are partners sharing in the ratio of 3 : 2 : 1. They admit D for 1/6™ share. B would retain
hioriginal share. Calculate new profit sharing ratio.

Q4. X and Y are partners in a firm sharing profits and losses in the ratio of 4 : 3.  On April 1, 2022, they
admitted Z as a new partner. Z brought in Z 80,000 for his capital and ¥ 21,000 for 1/3™ share of goodwiill
premium. On Z’s admission, goodwill appeared in books at ¥ 28,000. Record necessary journal entries on
Z’s admission.

Q5. A, B and C are partners in a firm. Though there is no provision in the partnership deed for interest on
capital, this has been provided in the accounts @ 10% p.a. for two years ended on 31° December,2022.
Their Fixed capitals on which interest was calculated were throughout — A ¥ 15,000; B ¥ 12,000 and C %
9,000. Their profit sharing ratio is 2 : 2 :1. Pass necessary journal entry.

Q6. Ajit and Baljit were sharing profits in the ratio of 3 : 2. They decided to admit Pratap into the partnership
for 1/6™ share of the future profits. Goodwill, valued at four times the super profits of the firm, was ¥ 18,000.
The firm had assets worth ¥ 15 Lakhs and Liabilities ¥ 12 Lakhs. The normal earning capacity of such firms
is expected to be 10% p.a. Find the average profits earned by the firm during the last four years.



Q7. Prepare partners Capital Accounts for the year ended March 31, 2010:-

I Initial Capital introduced on 1* April,2008: A —% 30,000; B —% 15,000 and C ¥ 20,000.
. Total Drawings during the year : A —%3,000; B —%1,500; and C — % 2,000.
iil. A and B claim a fixed salary of ¥5,000 p.a. and %6,000 p.a. Respectively( agreed by all partners).
iv. C is allowed to claim commission @ 5% on gross sales which are %2,20,000.
V. (v) Share of profit: A — X 4,000; B —%2,000; and C —%2,000.

Q8. Hari, Ravi and Kavi were partners in a firm sharing profits in the ratio of 3: 2 : 1. They admitted Gargi as
a new partner for 1/7" share in the profits. The new profit sharing ratio will be 2 : 2 : 2 : 1 respectively. Gargi
brought Z3,00,000 for her capital and ¥45,000 for her 1/7" share of goodwill. Pass necessary journal entries
in the books of the firm.

Q9. A firm earns profits of 1,00,000. The Normal rate of return in a similar type of business is 10%. The
value of total assets (excluding Goodwill) and total liabilities as on the date of valuation of goodwill are
%12,00,000 and %3,80,000 respectively. Calculate the value of goodwill according to capitalization of super
profit method.

Q10. X, Y and Z are in partnership sharing profits and losses in the ratio of 5: 4 : 1. Two new partners R
and S join the firm. The profits are now to be shared inthe ratio of 3: 4 :2: 2 : 1 respectively. R is to pay
%30,000 for his share of goodwill and S has insufficient cash to pay for goodwill. Both new partners
introduced %1,00,000 each as their capital. You are required to pass necessary journal entries.

Q11. Ashok and Rajesh are partners sharing profits in the ratio of 7 : 3. Their capitals on 1% January,2022
were 80,000 and 60,000 respectively. They admitted Vijay into partnership on that date giving him a 1/5"
share in the future profits, which he acquired equally from Ashok and Rajesh. Vijay is to bring in 50,000 as
his share of capital. Find new profit sharing ratio and record necessary journal entries.

Q12. X, Y and Z are partners in a firm sharing profits and losses in the ratio of 5: 3 : 2. Their fixed capitals
were ¥3,00,000, ¥2,00,000 and %1,00,000 respectively. For the year 2008-09 interest on capital was
credited to them @ 10% p.a. instead of 8%. Pass necessary adjustment entry.

Q13. P,Q and R are partners in a firm. Their capital accounts stood at ¥30,000, ¥15,000 and %15,000
respectively on 1% January, 2022. As per the provisions of the deed:-
i R was to be allowed a remuneration of ¥3,000 p.a.;
ii. Interest @ 5 % p.a. was to be provided on capital;
iii. Profits were to be divided in 2 : 2 : 1.Ignoring the above terms, net profit of 18,000 for the year
ended December 31, 2022 was divided among the three partners equally. Pass an adjustment entry.
Q14. X and Y started a partnership business on 1% April, 2022. They contributed ¥80,000 and ¥60,000
respectively as their capitals. The terms of the partnership agreement are as follows:
i. 20% of profits (before any appropriations) is to be transferred to General Reserve.
ii. Interest on capital @ 12% p.a. and interest on drawings @ 10% p.a.
iii. X and Y to get a monthly salary of 2,000 and %¥3,000 respectively.
iv. X is entitled to a commission of ¥7,000.

V. Profits and losses are to be shared in capital ratio.Profit for the year ended 31°% March,2023, before
making above appropriations was %1,25,375. The drawings of X and Y were 340,000 and %50,000
respectively.Prepare Profit and loss Appropriation A/c.

Q15. Usha and Asha are in partnership in the ratio 3 : 2. Neelam is admitted into partnership giving her
1/5" share in profits. Neelam is to bring in 30,000 as her capital and her share of goodwill in cash subject
to the following terms:-

i Goodwill of the firm is valued at ¥50,000.

ii. Stock is to be reduced by %3,000 and Provision for Bad Debts is to be reduced by %2,400.
iil. There was a claim against the firm for damages amounting to ¥2,000. The claim has now been
accepted.



Pass necessary journal entries.

Prepare the following sheets for the Accountancy project work.
Acknowledgement

Certificate

Tittle Sheet

Introduction of the company

Income statement of company (P/L A/C)
Balance sheet of company

Cash flow statement of company.
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Business Studies
1) Prepare a project file on the principles of management as per instructions given in class.
2) complete the exercises of chapter 1 to chapter 5 in your notebook,given in NCERT.

Entrepreneurs
Complete the exercises of unit 1 in your notebook.

ECONOMICS
e Prepare a project file on any topic suggested by CBSE
e Do the exercise related to the chapters
‘Money and Banking and Government Budget
e Do numericals from chapter ‘ National Income and Aggregates’.

History

Prepare a project file on any of the topics given in CBSE textbook.
I.P.

Q1. CREATE A TABLE EMPLOYEE WITH THE FOLLOWING STRUCTURE
EMPID INT
ENAME VARCHAR(20)
DESIGNATION VARCHAR(20)
SALARY INT
COMMISION INT
MOBILE INT

WRITE ATLEAST 20 QUERIES AND THIER OUTPUT IN YOUR ASSIGNMENT FILE

(MYSQL REVISION+FUNCTIONS)

P.ED. 1. For the file you have to write about any one game. Mandatory items it should have - history, rules
and diagrams ( use pencil only )

2. Write about any four asna in which one should be anti disease asna. Mandatory items which must be
included are it's benefits, procedure and diagrams ( use pencil only )

YOGA- 1. tratuk - neti , write about the procedure with all steps and other details
2. Shavasana procedure and diagram ( use pencil only)
Fine Arts

Theory - Learn all the chapters of Periodic | Draw and colour Railway scene and landscape.Both should be
different in shading and colouring.



